



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{3}{7} - \frac{3}{8} =$$

$$\frac{7}{2} - \frac{3}{8} =$$

$$\frac{2}{5} - \frac{1}{6} =$$

$$\frac{1}{2} - \frac{2}{5} =$$

$$\frac{3}{7} - \frac{1}{4} =$$

$$\frac{6}{7} - \frac{1}{6} =$$

$$\frac{6}{4} - \frac{5}{7} =$$

$$\frac{5}{6} - \frac{1}{4} =$$

$$\frac{3}{2} - \frac{1}{2} =$$

$$\frac{7}{2} - \frac{1}{7} =$$

$$\frac{7}{8} - \frac{5}{8} =$$

$$\frac{7}{2} - \frac{5}{3} =$$

$$\frac{2}{5} - \frac{2}{6} =$$

$$\frac{7}{3} - \frac{7}{8} =$$

$$\frac{3}{2} - \frac{2}{3} =$$

$$\frac{6}{8} - \frac{1}{8} =$$

$$\frac{7}{9} - \frac{4}{7} =$$

$$\frac{6}{4} - \frac{2}{9} =$$

$$\frac{6}{9} - \frac{1}{8} =$$

$$\frac{7}{5} - \frac{3}{7} =$$



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{3}{7} - \frac{3}{8} = \frac{3}{56}$$

$$\frac{7}{2} - \frac{3}{8} = \frac{25}{8} = 3\frac{1}{8}$$

$$\frac{2}{5} - \frac{1}{6} = \frac{7}{30}$$

$$\frac{1}{2} - \frac{2}{5} = \frac{1}{10}$$

$$\frac{3}{7} - \frac{1}{4} = \frac{5}{28}$$

$$\frac{6}{7} - \frac{1}{6} = \frac{29}{42}$$

$$\frac{6}{4} - \frac{5}{7} = \frac{11}{14}$$

$$\frac{5}{6} - \frac{1}{4} = \frac{7}{12}$$

$$\frac{3}{2} - \frac{1}{2} = 1$$

$$\frac{7}{2} - \frac{1}{7} = \frac{47}{14} = 3\frac{5}{14}$$

$$\frac{7}{8} - \frac{5}{8} = \frac{1}{4}$$

$$\frac{7}{2} - \frac{5}{3} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{2}{5} - \frac{2}{6} = \frac{1}{15}$$

$$\frac{7}{3} - \frac{7}{8} = \frac{35}{24} = 1\frac{11}{24}$$

$$\frac{3}{2} - \frac{2}{3} = \frac{5}{6}$$

$$\frac{6}{8} - \frac{1}{8} = \frac{5}{8}$$

$$\frac{7}{9} - \frac{4}{7} = \frac{13}{63}$$

$$\frac{6}{4} - \frac{2}{9} = \frac{23}{18} = 1\frac{5}{18}$$

$$\frac{6}{9} - \frac{1}{8} = \frac{13}{24}$$

$$\frac{7}{5} - \frac{3}{7} = \frac{34}{35}$$